

6th International Conference on Mathematics and **Engineering Physics** (ICMEP-6)

SOLUTION of LINEAR SYSTEM of PARTIAL DIFFERENTIAL EQUATIONS WITH CONSTANT COEFFICIENTS By

Hassan Mohamed El Hamouly^(*)

ABSTRACT

In this paper we adopt operator method for solution of linear system of partial differential equations with constant coefficients. We deal with operator L(D_x , D_y), where $D_x = \partial/\partial x$, that need not be homogeneous, where we introduce three possible solutions of the homogeneous equation in terms of basic (or arbitrary) functions in addition to the solution of the nonhomogeneous equation.

Keywords

Partial differential equation, operator method, separation of variables.

1. Introduction

Historically, the solution of a homogeneous linear partial differential equation with constant coefficients with homogeneous operator $L(D_x, D_y) u(x,y) = 0$, where

 $L(D_x, D_y) = D_x^{n} + a_1 D_x^{n-1} D_y + a_2 D_x^{n-2} D_y^{2} + \dots + a_n D_y^{n}$ was obtained by considering $u(x,y) = F(y + \lambda x)$, where λ is the solution of the auxiliary equation

$$\lambda^{n} + a_{1} \lambda^{n-1} + a_{2} \lambda^{n-2} + \ldots + a_{n} = 0,$$

and F is an arbitrary function.

Unfortunately, this is valid only for homogeneous operator. We generalize this solution for non homogeneous operator by assuming exponential forms. Our method also generalize the method of separation of variables for cases where there is a separable solution in multiplication form, but the method of separation of variables cannot obtain it, for example the solution of the partial differential equation $u_{xx}(x,y) + u_{xy}(x,y) + u_{yy}(x,y) = 0$.

The particular integral solution of a nonhomogeneous linear partial differential equation with constant coefficients with homogeneous operator $L(D_x, D_y)$ was obtained by formulas like those that will be given in section (3), except for an arbitrary function φ (other than polynomial, sine, cosine, sinh, cosh, exponential):

i)
$$\frac{1}{f(D_x, D_y)} \phi^{(n)}(ax+by) = \frac{1}{f(a,b)} \phi(ax+by)$$
, $f(a,b) \neq 0$,

where $\varphi^{(n)}(ax + by)$ is the nth derivative of φ with respect to its argument, n is the order of the operator.

Military Technical College,

^(*) Prof. Dr. Hassan Mohamed Mohamed El-Hamouly, **Department of mathematics**,



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

Egyptian Armed Forces, Cairo, EGYPT.

ii)
$$\frac{1}{(bD_x - aD_y)^r} \phi(ax + by) = \frac{x^r}{b^r r!} \phi(ax + by)$$
, $f(a,b) = 0$.

All formulas given in this paper are direct consequence of differentiation, so their proofs will be omitted.

2. Solution of homogeneous equation

Consider the equation

 $L(\ Dx\ ,\ Dy\)\ u(x,y)=0\ . \tag{2.1}$ We assume the solution of the form $u(x,y)=exp(\lambda_1x+\lambda_2y)$. Substituting in (2.1), we obtain

$$L(\lambda_1, \lambda_2) \exp(\lambda_1 x + \lambda_2 y) = 0, \quad \exp(\lambda_1 x + \lambda_2 y) \neq 0$$
$$L(\lambda_1, \lambda_2) = 0. \tag{2.2}$$

so that

Equation (2.2) is called auxiliary equation of equation (2.1).

According to the roots λ_1 (λ_2) of (2.2), we have (for λ_2 arbitrary complex number which can be adjusted or chosen according to initial or boundary conditions i. e. λ_2 can take more than one value to generate different suitable solutions) the following cases:

a) <u>Real distinct roots</u>: $\lambda_{11}(\lambda_2), \lambda_{12}(\lambda_2), \dots, \lambda_{1n}(\lambda_2)$.

The solution (with respect to roots λ_1 (λ_2)) will have the form:

$$1^{(\mathbf{x},\mathbf{y})=\mathbf{c}_{1}}\exp(\lambda_{11}\mathbf{x}+\lambda_{2}\mathbf{y})+\mathbf{c}_{2}\exp(\lambda_{12}\mathbf{x}+\lambda_{2}\mathbf{y})+\ldots+\mathbf{c}_{n}\exp(\lambda_{1n}\mathbf{x}+\lambda_{2}\mathbf{y}),$$

where c_1, c_2, \ldots, c_n are arbitrary constants.

Example 2.1 Solve the P.D.E. $u_{xx}(x,y) - u_{yy}(x,y) = 0$.

<u>Solution</u>. Auxiliary equation: $(\lambda_1)^2 = (\lambda_2)^2$, $\lambda_1 = \pm \lambda_2$ and the solution (with respect to roots $\lambda_1 (\lambda_2)$) will be

 $u_1(x,y) = c_1 \exp(\lambda_2(x+y)) + c_2 \exp(\lambda_2(-x+y)).$

Note that on taking $\lambda_2 = i$ or -i, we obtain solutions of the form sin x cos y or cos x sin y or sinx siny and cosx cosy, and on taking $\lambda_2 = 1+i$, we obtain non separable solutions of the form $\exp(x+y) \sin(x+y)$, $\exp(x+y) \cos(x+y)$, $\exp(-x+y) \sin(-x+y)$ and $\exp(-x+y) \cos(-x+y)$.

b) <u>Real repeated roots</u>: $\lambda_1(\lambda_2), \lambda_1(\lambda_2), \dots, \lambda_1(\lambda_2) \dots k$ - times.

The solution (with respect to roots λ_1 (λ_2)) will have the form:



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

$$u_{1}(x,y) = (\exp(\lambda_{1}(\lambda_{2})x + \lambda_{2}y))(c_{1} + c_{2}x + ... + c_{k}x^{k-1}),$$

where c_1, c_2, \ldots, c_k are arbitrary constants.

Example 2.2 Solve the P.D.E. $u_{xx}(x,y) - 2 u_{xy}(x,y) + u_{yy}(x,y) = 0$.

Solution. Auxiliary equation : $(\lambda_1)^2 - 2\lambda_1\lambda_2 + (\lambda_2)^2 = 0$, $\lambda_1 = \lambda_2$, λ_2 and the solution (with respect to roots $\lambda_1 (\lambda_2)$) will be $u_1(x,y) = (exp(\lambda_2(x+y)))(c_1 + c_2x)$.

c) <u>Complex conjugate roots</u>: $\lambda_1 = h_1 (\lambda_2) \pm i h_2 (\lambda_2)$.

The solution (with respect to roots $\lambda_1 (\lambda_2)$) will have the form: $u_1(x,y) = (\exp(h_1(\lambda_2)x + \lambda_2 y)) (c_1 \cos(h_2 (\lambda_2) x) + c_2 \sin(h_2 (\lambda_2) x)),$ where c_1, c_2 are arbitrary constants.

Example 2.3 Solve the P.D.E. $u_{xx}(x,y) + u_{yy}(x,y) = 0$.

Solution. Auxiliary equation :(λ_1)² = - (λ_2)², $\lambda_1 = \pm i \lambda_2$ and the solution (with respect to roots λ_1 (λ_2)) will be $u_1(x,y) = (\exp(\lambda_2 y)) (c_1 \cos(\lambda_2 x) + c_2 \sin(\lambda_2 x)).$

Example 2.4 Solve the P.D.E. $\frac{\partial^8}{\partial x^8} u(x,y) + \frac{\partial^8}{\partial y^8} u(x,y) = 0.$ Solution. Auxiliary equation :(λ_1)⁸ = - (λ_2)⁸, $\lambda_1 = \lambda_2 \left(-\frac{\sqrt{2-\sqrt{2}}}{2} \pm i\frac{\sqrt{2+\sqrt{2}}}{2}\right),$ $\lambda_1 = \lambda_2 \left(-\frac{\sqrt{2+\sqrt{2}}}{2} \pm i\frac{\sqrt{2-\sqrt{2}}}{2}\right),$ $\lambda_1 = \lambda_2 \left(\frac{\sqrt{2+\sqrt{2}}}{2} \pm i\frac{\sqrt{2-\sqrt{2}}}{2}\right),$ $\lambda_1 = \lambda_2 \left(\frac{\sqrt{2+\sqrt{2}}}{2} \pm i\frac{\sqrt{2-\sqrt{2}}}{2}\right),$

and the solution (with respect to roots λ_1 (λ_2)) will be



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

$$\begin{aligned} \mathbf{u}_{1}(\mathbf{x},\mathbf{y}) &= (\exp(-\lambda_{2}(\frac{\sqrt{2}-\sqrt{2}}{2}\mathbf{x}-\mathbf{y}))) \ (\mathbf{c}_{1} \ \cos(\frac{\sqrt{2}+\sqrt{2}}{2}\lambda_{2}\mathbf{x}) + \mathbf{c}_{2} \ \sin(\frac{\sqrt{2}+\sqrt{2}}{2}\lambda_{2}\mathbf{x})) + \\ &\quad (\exp(-\lambda_{2}(\frac{\sqrt{2}+\sqrt{2}}{2}\mathbf{x}-\mathbf{y}))) \ (\mathbf{c}_{3} \ \cos(\frac{\sqrt{2}-\sqrt{2}}{2}\lambda_{2}\mathbf{x}) + \mathbf{c}_{4} \ \sin(\frac{\sqrt{2}-\sqrt{2}}{2}\lambda_{2}\mathbf{x})) + \\ &\quad (\exp(\lambda_{2}(\frac{\sqrt{2}+\sqrt{2}}{2}\mathbf{x}+\mathbf{y}))) \ (\mathbf{c}_{5} \ \cos(\frac{\sqrt{2}-\sqrt{2}}{2}\lambda_{2}\mathbf{x}) + \mathbf{c}_{6} \ \sin(\frac{\sqrt{2}-\sqrt{2}}{2}\lambda_{2}\mathbf{x})) + \\ &\quad (\exp(\lambda_{2}(\frac{\sqrt{2}-\sqrt{2}}{2}\mathbf{x}+\mathbf{y}))) \ (\mathbf{c}_{7} \ \cos(\frac{\sqrt{2}+\sqrt{2}}{2}\lambda_{2}\mathbf{x}) + \mathbf{c}_{8} \ \sin(\frac{\sqrt{2}+\sqrt{2}}{2}\lambda_{2}\mathbf{x})). \end{aligned}$$

<u>Example 2.5</u> Solve the P.D.E. $u_{xx}(x,y) + u_{xy}(x,y) + u_{yy}(x,y) = 0$, u(0,y) = u(1,y) = 0, $u(x,0) = x^2(1-x)$ and u(x,1) = x (1-x).

<u>Solution</u>. Auxiliary equation :(λ_1)² + $\lambda_1 \lambda_2$ + (λ_2)² =0, $\lambda_1 = \lambda_2$ (-1/2 ± i $\sqrt{3}$ /2) and the solution will be

$$u(x,y) = (\exp(\lambda_2 (y-x/2))) (c_1 \cos(\sqrt{3} \lambda_2 x/2) + c_2 \sin(\sqrt{3} \lambda_2 x/2)) + (\exp(\lambda_1 (x-y/2))) (c_3 \cos(\sqrt{3} \lambda_1 y/2) + c_4 \sin(\sqrt{3} \lambda_1 y/2)).$$

 $u(0,y) = c_1 \exp(\lambda_2 (y))) + (\exp((-\lambda_1 y/2))) (c_3 \cos(\sqrt{3} \lambda_1 y /2) + c_4 \sin(\sqrt{3} \lambda_1 y /2)) = 0,$ from which $c_1 = c_3 = c_4 = 0.$

 $u(1,y) = c_2 (exp(\lambda_2 (y-1/2))) sin(\sqrt{3} \lambda_2/2)) = 0$, from which $\lambda_2 = \pm 2n\pi / \sqrt{3}$, n = 1, 2, ... and the nth solution will be

 $u_n(x,y) = (A_n (exp(2n\pi (y-x/2)/\sqrt{3})) + B_n (exp(-2n\pi (y-x/2)/\sqrt{3}))) sin(n\pi x)), n = 1, 2, ...$ and the solution will be

 $u(x,y) = \sum_{n=1}^{\infty} (An (exp(2n\pi (y - x/2)/\sqrt{3})) + Bn (exp(-2n\pi (y - x/2)/\sqrt{3}))) sin(n\pi x)).$

$$u(x,0) = \sum_{n=1}^{\infty} (A_n (\exp(-n\pi x / \sqrt{3})) + B_n (\exp(n\pi x / \sqrt{3}))) \sin(n\pi x)) = x^2 (1 - x)$$

On replacing $\exp(-n\pi x/\sqrt{3})$ and $\exp(n\pi x/\sqrt{3})$ by their mean values

$$(\int_{0}^{1} \exp(-n\pi x/\sqrt{3}) dx/(1-0) \text{ and } (\int_{0}^{1} \exp(n\pi x/\sqrt{3}) dx/(1-0) \text{ respectively, we obtain the}$$

coefficients of sin(mx) as Fourier sine coefficients of $x^2(1-x)$ on the interval (0,1). We do the same for the second condition

$$u(x,1) = \sum_{n=1}^{\infty} (A_n (\exp(2n\pi (1 - x/2)/\sqrt{3})) + B_n (\exp(-2n\pi (1 - x/2)/\sqrt{3}))) \sin(n\pi x)) = x(1 - x),$$

so that A_n and B_n are found for every n and the solution is completely established. The solution with n=6 has an error (for the boundary conditions) of the order of 10^{-3} while with n=60 has an error of the order of 10^{-6} .

The graph of the solution with n=60 (obtained by Maple 12) is



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)



d) <u>Repeated complex conjugate roots</u>:

 $\begin{array}{l} \lambda_1 = h_1\left(\ \lambda_2 \ \right) \pm i \ h_2\left(\ \lambda_2 \ \right), \ h_1\left(\ \lambda_2 \ \right) \pm i \ h_2\left(\ \lambda_2 \ \right), \ \ldots, \ h_1\left(\ \lambda_2 \ \right) \pm i \ h_2\left(\ \lambda_2 \ \right) \ \ldots \ k-times. \end{array}$ The solution (with respect to roots $\begin{array}{l} \lambda_1 \left(\ \lambda_2 \ \right) \ \ldots \ h_1\left(\ \lambda_2 \ \right) \pm i \ h_2\left(\ \lambda_2 \ \right) \ \ldots \ k-times. \end{array}$

 $\begin{aligned} \mathbf{u}_{1}(\mathbf{x},\mathbf{y}) &= (\exp(\mathbf{h}_{1}(\lambda_{2})\mathbf{x} + \lambda_{2}\mathbf{y})) \ (\ (\cos(\mathbf{h}_{2}(\lambda_{2})\mathbf{x})) \ (\ \mathbf{c}_{1} + \mathbf{c}_{2}\mathbf{x} + \ldots + \mathbf{c}_{k}\mathbf{x}^{k-1}) \\ &+ (\sin(\mathbf{h}_{2}(\lambda_{2})\mathbf{x})) \ (\ \mathbf{d}_{1} + \mathbf{d}_{2}\mathbf{x} + \ldots + \mathbf{d}_{k}\mathbf{x}^{k-1})), \end{aligned}$

where $c_1, c_2, \ldots, c_k, d_1, d_2, \ldots, d_k$ are arbitrary constants.

Example 2.6 Solve the P.D.E. $(D_{XX} + D_{yy})^2 u(x,y) = 0$.

Solution. Auxiliary equation $((\lambda_1)^2 + (\lambda_2)^2)^2 = 0$, $\lambda_1 = \pm i \lambda_2$, $\pm i \lambda_2$ and the solution (with respect to roots $\lambda_1 (\lambda_2)$) will be $u_1(x,y) = (\exp(\lambda_2 y)) ((c_1+c_2x) \cos(\lambda_2 x) + (d_1+d_2x) \sin(\lambda_2 x)).$

e) <u>Real valued roots of λ_1 </u> (Auxiliary equation: $L(\lambda_1, \lambda_2) = L_1(\lambda_1)$):

 $\lambda_1 = \mathbf{k}_1, \mathbf{k}_2, \ldots, \mathbf{k}_n.$

The solution will have the form:

 $u_1(x,y) = \phi_1(y) \exp(k_1x) + \phi_2(y) \exp(k_2x) + ... + \phi_n(y) \exp(k_nx)$, where ϕ_1 , ϕ_2 , ..., ϕ_n are arbitrary functions of y. Also, this solution can be generalized as before for repeated roots, complex roots and repeated complex roots.

The same can be done for $L(\lambda_1, \lambda_2) = L_2(\lambda_2)$.

Example 2.7 Solve the P.D.E. $(D_x - 3)(D_y + 5)u(x,y) = 0$.

Solution. Auxiliary equation $(\lambda_1 - 3)(\lambda_2 + 5) = 0$, $\lambda_1 = 3$, $\lambda_2 = -5$, and the solution will be $u(x,y) = \phi(y) \exp(3x) + \psi(x) \exp(-5y)$.



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

Example 2.8 Solve the P.D.E. $(D_x D_y) u(x,y) = 0$.

Solution. Auxiliary equation $\lambda_1 \lambda_2 = 0$, $\lambda_1 = 0$, $\lambda_2 = 0$, and the solution will be $u(x,y) = \phi(x) + \psi(y)$, where $\phi(x)$, $\psi(y)$ are arbitrary functions of x and y respectively.

Note. In all previous cases, there are two other possible solutions:

- 1) $u_2(x,y)$ which is the solution with respect to the roots λ_2 (λ_1).
- 2) $u_3(x,y)$ the Polynomial solution which can be obtained in the form $u_3(x,y) = c_1 + c_2x + c_3y + c_4x^2 + c_5xy + c_6y^2 + ... + c_ky^m$, where m = max(order of D_x in the operator, order of D_y in the operator) after canceling unnecessary constants by substituting $u_3(x,y)$ in the partial differential equation. For example, for the partial differential equation $u_{xx}(x,y) + u_{yy}(x,y) = 0$, m=2 so we suppose $u_3(x,y) = c_1 + c_2x + c_3y + c_4x^2 + c_5xy + c_6y^2$. Substituting in the equation, we obtain $2c_4+2c_6 = 0$, that is $u_3(x,y) = d_1 + d_2x + d_3y + d_4xy + d_5(x^2 - y^2)$.

We can select one or more (may be of the same type, $u_1(x,y)$ or $u_2(x,y)$ or $u_3(x,y)$) of these possible solutions to form the solution of the homogenous equation according to conditions given in the problem. For example, the two components of the solution

 $u(x,y) = (exp(x)) (c_1 \cos(y) + c_2 \sin(y)) + (exp(-x)) (d_1 \cos(y) + d_2 \sin(y))$ of the p.d.e. $u_{xx} (x,y) + u_{yy} (x,y) = 0$ are of the type $u_2(x,y)$ with $\lambda_1 = 1$, $\lambda_1^* = -1$.

Example 2.9 Solve the P.D.E. $u_{xx}(x,y) + u_{yy}(x,y) = 0$, $0 \le x \le \pi/2$, $0 \le y \le \pi/2$, $u(0,y) = 3 \cos(y)$, $u(\pi/2,y) = 4 \sinh(\pi/2) \sin(y)$, $u(x,0) = -3\sinh(x-\pi/2) / \sinh(\pi/2)$, $u(x,\pi/2) = 4 \sinh(x)$. Solution. Applying the boundary conditions on the solution

 $u(x,y) = (exp(x)) (c_1 \cos(y) + c_2 \sin(y)) + (exp(-x)) (d_1 \cos(y) + d_2 \sin(y)),$ we obtain

$$u(x,y) = (\exp(x)) \left(\frac{-3 \exp(-\pi/2)}{2 \sinh(\pi/2)} \cos(y) + 2 \sin(y)\right) + (\exp(-x)) \left(\frac{3 \exp(\pi/2)}{2 \sinh(\pi/2)} \cos(y) - 2 \sin(y)\right).$$

Live

The graph of the solution is given by the following figure:



2. Solution of nonhomogeneous equation



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

Having the equation L(Dx , Dy) u(x,y) = f(x,y), the particular integral solution can be obtained by operator method in the form u(x,y) = (1/L(Dx, Dy)) f(x,y). According to the type of the function f(x,y), we have the following cases:

a)
$$\frac{1}{f(D_x, D_y)} \exp(\alpha x + \beta y) = \frac{1}{f(\alpha, \beta)} \exp(\alpha x + \beta y)$$
, $f(\alpha, \beta) \neq 0$.

Example 3.1
$$\frac{1}{D_x^2 + 2D_x + 3D_y} \exp(2x + 3y) = \frac{1}{17} \exp(2x + 3y)$$
.

b)
$$\frac{1}{f(D_x, D_y)} (\exp(\alpha x + \beta y))v(x, y) = \exp(\alpha x + \beta y) \frac{1}{f(D_x + \alpha, D_y + \beta)} v(x, y) , f(\alpha, \beta) = 0.$$

$$\frac{\text{Example 3.2}}{2D_x + 3D_y} \frac{1}{2D_x + 3D_y} \exp(-3x + 2y) \cdot 1 = \exp(-3x + 2y) \frac{1}{2(D_x - 3) + 3(D_y + 2)} \cdot 1 = \exp(-3x + 2y) \frac{1}{2D_x} \cdot (\frac{1}{1 + 3D_y / 2D_x}) \cdot 1$$
$$= \frac{x}{2} \exp(-3x + 2y) \cdot .$$

$$c)\frac{1}{f(D_x^2, D_y^2)}\begin{cases}cos(\alpha x + \beta y)\\sin(\alpha x + \beta y)\end{cases} = \frac{1}{f(-\alpha^2, -\beta^2)}\begin{cases}cos(\alpha x + \beta y)\\sin(\alpha x + \beta y)\end{cases}, \ f(-\alpha^2, -\beta^2) \neq 0.$$

Example 3.3
$$\frac{1}{D_x + 3D_y^2} \cos(x+y) = \frac{1}{D_x - 3} \cos(x+y)$$

= $\frac{D_x + 3}{D_x^2 - 9} \cos(x+y) = \frac{D_x + 3}{-10} \cos(x+y)$
= $\frac{1}{10} \sin(x+y) - \frac{3}{10} \cos(x+y)$.

$$d)\frac{1}{f(D_x^2, D_y^2)}\begin{cases} \cos(\alpha x + \beta y) \\ \sin(\alpha x + \beta y) \end{cases} = \frac{1}{f(D_x^2, D_y^2)}\begin{cases} \operatorname{Re} \exp(i(\alpha x + \beta y)) \\ \operatorname{Im} \exp(i(\alpha x + \beta y)) \end{cases}, \ f(-\alpha^2, -\beta^2) = 0.$$



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

$$g)\frac{1}{1-D_{x}}p_{n,m}(x,y) = (1+D_{x}+D_{x}^{2}+...+D_{x}^{n})p_{n,m}(x,y),$$
$$\frac{1}{1-D_{y}}p_{n,m}(x,y) = (1+D_{y}+D_{y}^{2}+...+D_{y}^{m})p_{n,m}(x,y),$$

where $p_{n,m}(x,y)$ is a polynomial of degree n in x , m in y.

Example 3.8 Solve the P.D.E. $u_{xx}(x,y) - u_{yy}(x,y) = \cosh(x+y), 0 \le x \le 1, 0 \le y \le 1, u(0,y) = 4\exp(y), u(1,y) = 2+3y+4\exp(1+y)+(1/2)\sinh(1+y), u(x,0) = 2x+4\exp(x)+(x/2)\sinh(x), u(x,1) = 5x+4\exp(1+x)+(x/2)\sinh(1+x).$

<u>Solution</u>. Taking the general solution as the summation of $u_1(x,y)$, $u_3(x,y)$ and $u_{p.i.}(x,y)$, we obtain

 $u(x,y) = c_1 + c_2x + c_3y + c_4(x^2 + y^2) + c_5xy + c_6exp(a(x+y)) + c_7exp(b(-x+y)) + (x/2) sinh(x+y).$ Choosing $c_1 = c_3 = c_4 = c_7 = 0$, a=1, we obtain

 $u(x,y) = c_2x + c_5xy + c_6exp(x+y) + (x/2) \sinh(x+y).$

Applying the boundary conditions on the solution, we obtain $u(x,y) = 2x + 3xy + 4 \exp(x+y) + (x/2) \sinh(x+y).$

The graph of the solution is given by the following figure:

Live



4. Solution of a system of partial differential equations with constant coefficients

Consider the system

$$\begin{aligned} f_1(D_x, D_y) & u(x,y) + f_2(D_x, D_y) & v(x,y) = g_1(x,y) , \\ f_3(D_x, D_y) & u(x,y) + f_4(D_x, D_y) & v(x,y) = g_2(x,y) . \end{aligned}$$

The equations of u(x,y), v(x,y) are:

$$\begin{vmatrix} f_1(D_x, D_y) & f_2(D_x, D_y) \\ f_3(D_x, D_y) & f_4(D_x, D_y) \end{vmatrix} u(x, y) = \begin{vmatrix} g_1(x, y) & f_2(D_x, D_y) \\ g_2(x, y) & f_4(D_x, D_y) \end{vmatrix}$$
$$\begin{vmatrix} f_1(D_x, D_y) & f_2(D_x, D_y) \\ f_3(D_x, D_y) & f_4(D_x, D_y) \end{vmatrix} v(x, y) = \begin{vmatrix} f_1(D_x, D_y) & g_1(x, y) \\ f_3(D_x, D_y) & g_2(x, y) \end{vmatrix}.$$



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

The right hand sides of the first and second equations are

 $(f_4(D_x\ ,\ D_y))g_1(x,y)$ - $(f_2(D_x\ ,\ D_y))g_2(x,y)$ and $(f_1(D_x\ ,\ D_y))g_2(x,y)$ - $(f_3(D_x\ ,\ D_y))g_1(x,y)$ respectively. We can solve one of the equations to find u(x,y) or v(x,y) and substitute in the other equation to find the other function (as in example 4.1) or solve each of them to find u(x,y) and v(x,y) and then substitute in one of the equations (4.1 or 4.2) to eliminate the excess arbitrary constants.

Example 4.1 Solve the system of partial differential equations $(D_x+3) u(x,y) + D_y^2 v(x,y) = exp(x-2y),$ (4.3) $u(x,y) - (D_x+D_y)v(x,y) = 6x.$ (4.4)

Solution. The equation of v(x,y) is

 $\begin{vmatrix} D_x + 3 & D_y^2 \\ 1 & -D_x - D_y \end{vmatrix} v(x, y) = \begin{vmatrix} D_x + 3 & exp(x - 2y) \\ 1 & 6x \end{vmatrix},$ (-D_x² - 3D_x - D_xD_y - 3D_y - D_y²)v(x, y) = 6 + 18x - exp(x - 2y). Auxiliary equation:

$$-\lambda_1^2 - 3 \lambda_1 - \lambda_1 \lambda_2 - 3 \lambda_2 - \lambda_2^2 = 0.$$

$$\lambda_{1} = -\frac{\lambda_{2}}{2} - \frac{3}{2} \pm \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2},$$
$$\lambda_{2} = -\frac{\lambda_{1}}{2} - \frac{3}{2} \pm \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2}.$$

 λ_1, λ_2 are real in the interval [-3, 1].

$$v_{1c.f.}(x,y) = c_{1}exp(\lambda_{2}y + (-\frac{\lambda_{2}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})x) + c_{2}exp(\lambda_{2}y + (-\frac{\lambda_{2}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})x),$$

$$v_{2c.f.}(x,y) = c_{3} exp(\lambda_{1}x + (-\frac{\lambda_{1}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})y) + c_{4} exp(\lambda_{1}x + (-\frac{\lambda_{1}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})y).$$



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

$$v_{p.i.} = \frac{-1}{D_x^2 + 3D_x + D_x D_y + 3D_y + D_y^2} (6 + 18x - exp(x - 2y))$$

$$=\exp(x-2y)\frac{1}{D_{x}^{2}+3D_{x}+D_{x}D_{y}+3D_{y}+D_{y}^{2}}.1-$$

$$\frac{1}{(D_x^2 + 3D_x)(1 + \frac{D_x D_y + 3D_y + D_y^2}{D_x^2 + 3D_x})} (6 + 18x)$$

= $\frac{x}{3} \exp(x - 2y) - \frac{1}{D_x^2 + 3D_x} (6 + 18x) = \frac{x}{3} \exp(x - 2y) - 3x^2.$

Then

$$\mathbf{v}(\mathbf{x}, \mathbf{y}) = \mathbf{c}_{1} \exp(\lambda_{2}\mathbf{y} + (-\frac{\lambda_{2}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})\mathbf{x}) + \frac{\mathbf{c}_{2} \exp(\lambda_{2}\mathbf{y} + (-\frac{\lambda_{2}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})\mathbf{x}) + \frac{\mathbf{c}_{3} \exp(\lambda_{1}\mathbf{x} + (-\frac{\lambda_{1}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})\mathbf{y}) + \frac{\mathbf{c}_{4} \exp(\lambda_{1}\mathbf{x} + (-\frac{\lambda_{1}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})\mathbf{y}) + \frac{\mathbf{x}_{3} \exp(\mathbf{x} - 2\mathbf{y}) - 3\mathbf{x}^{2}.$$

From equation (4.4):

$$\begin{aligned} \mathbf{u}(\mathbf{x},\mathbf{y}) &= 6\mathbf{x} + (\mathbf{D}_{\mathbf{x}} + \mathbf{D}_{\mathbf{y}})\mathbf{v}(\mathbf{x},\mathbf{y}) \\ \mathbf{u}(\mathbf{x},\mathbf{y}) &= (\exp(\lambda_{2}\mathbf{y} + (-\frac{\lambda_{2}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})\mathbf{x}))(\frac{\lambda_{2}\mathbf{c}_{1}}{2} \\ &- \frac{3\mathbf{c}_{1}}{2} + \frac{\mathbf{c}_{1}}{2}\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}) + \\ &(\exp(\lambda_{2}\mathbf{y} + (-\frac{\lambda_{2}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}}{2})\mathbf{x}))(\frac{\lambda_{2}\mathbf{c}_{2}}{2} \\ &- \frac{3\mathbf{c}_{2}}{2} - \frac{\mathbf{c}_{2}}{2}\sqrt{-3\lambda_{2}^{2} - 6\lambda_{2} + 9}) + \end{aligned}$$



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

$$\exp(\lambda_{1}x + (-\frac{\lambda_{1}}{2} - \frac{3}{2} + \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})y))(\frac{\lambda_{1}c_{3}}{2} - \frac{3c_{3}}{2} + \frac{c_{3}}{2}\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}) + (\exp(\lambda_{1}x + (-\frac{\lambda_{1}}{2} - \frac{3}{2} - \frac{\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}}{2})y))(\frac{\lambda_{1}c_{4}}{2} - \frac{3c_{4}}{2} - \frac{c_{4}}{2}\sqrt{-3\lambda_{1}^{2} - 6\lambda_{1} + 9}) + \frac{\exp(x - 2y)}{3}(1 - x)$$

For $\lambda_1 = \lambda_2 = 0$, the solution (using $u(x,y) = u_1(x,y) + u_2(x,y) + u_{p.i.}(x,y)$, $v(x,y) = v_1(x,y) + v_2(x,y) + v_{p.i.}(x,y)$) is given by:

$$u(x,y) = -3c_2 \exp(-3x) - 3c_4 \exp(-3y) + \frac{1-x}{3} \exp(x-2y),$$

$$v(x,y) = c_1 + c_3 + c_2 \exp(-3x) + c_4 \exp(-3y) + \frac{x}{3} \exp(x-2y) - 3x^2,$$

while $x_1 = -3c_2 \exp(-3x) + c_4 \exp(-3y) + \frac{x}{3} \exp(x-2y) - 3x^2,$

while $u_3(x, y)$ and $v_3(x, y)$ can be considered in the form $k_1 + k_2(x - y)$.

<u>Note</u>. The method can be applied to ordinary differential equations as well (u=u(x)) when D_y is absent and in this case λ_{1k} (λ_2) will be constant and $\lambda_2=0$.

<u>Acknowledgment</u>. It was difficult for this paper to appear in the present form without the help of Prof. Dr. El Sayed El Sayed Sorour.

References

[1] C. Chester, Techniques in Partial Differential Equations, McGraw-Hill, 1971.

- [2] M. Taylor, Partial Differential Equations, Vol. I-III, Springer, 1996.
- [3] B. Dacorogna and J. Moser, On a partial differential equation involving a Jaco-

bian determinant, Ann. Inst. H. Poincar (1990), 1-26.

- [4] E. DiBenedetto, Partial Differential Equations, Birkh user, 1995.
- [5] P. Duchateau and D. W. Zachman, Partial Differential Equations, Schaum's

Outline Series in Math., McGraw-Hill, 1986.

- [6] G. Folland, Introduction to Partial Differential Equations, Princeton University Press, 1976.
- [7] L. H/Srmander, The Analysis of Linear Partial Differential Operators, Vol. 1-4,



6th International Conference on Mathematics and Engineering Physics (ICMEP-6)

Springer, 1983-85.